> SL SERIES

/Il/[l{ll/]/‘lll/[ l//lll//ll ) I{/_I(l
//I///lljlllliﬂs’:/ll/ll/lﬂ'; ﬂ/ 11115

s s i

YLINDER SERIES

ROTARY HYDRAULIC CYLINDER WITH COOLANT
CONNECTION AND SAFETY DEVICE

OB, FAREEHHEBET, WEHERBEEFHETEIK,

O REFEIE A HEERERER,

© To allow coolant to be feed from the rear end of the distributor
through the rotating union.

© Built—in safety check valves and pressure relief valves.

CEMARER L EBEDNRE, UBREETR,

© The drain port should be independently connected to oil tank to
avoid back pressure.

6~L1 L2

I| | |
1 e e s
! o TRt F —
A:RFELD. _
Dr
A B PT1/4 BA4THEST __|§|‘_
7k 41, Coolant port | —|_| B
: [ = w|w S E (O]
(<=} \
cﬂ] ‘ rr| 1 - | N \ﬁ
PT1/8 | —
;8 7kZL Coolant drain port 20 H1 N
: PT1/4 A : e N—
_ 133 8 FL Oil drain port H G
60 J
/2~P1'3/a(3|.-200: PT1/2)
# 7L Pressure port
84 Spec EZEM T Eff.piston areacm® #718 (mm) BEEEE BEERAES kBB EE AR A (kgl/lem®) e EE(kg)
FIEF Model il Extend  $i{fl Retract Piston stroke max r.p.m Mpa(lgal)‘(;ar?ssura Mpa %ﬁ%nria(;gz?gctmn kg-m* Weight
SL-75 42.6 37.1 15 0.01 3.1
SL-100 77.0 71.5 20 6000 0.04 4.6
SL-125 121.2 113.1 25 4.0(40) 3.5(35) 0.06 7.1
SL-150 175.2 160.8 30 5500 0.10 9.7
SL-200 312.5 290.4 35 0.30 15.6
4% Spec E G M
B Model A B C D1 D2 h7 F ——— H1 H2 J K L L1 L2 yg N
SL-75 75 15 107 90 65 30 57 194 6~M8x16  M8x60
45 42 137 |
SL-100 100 20 132 115 100 80 30 72 209 M2025 o \oxo0  Mexts 12 21 35
SL-125 125 25 160 140 .o .o 35 50 25 g2 41 136 218 M24x3.0 6~M12x20 M8x85 25 N8
SL-150 150 30 190 170 45 55 95 39 134 230 M30x3.5 12~M12x24 M10x100 16 31
SL-200 200 35 245 220 145 120 55 70 35 115 36 132 248 M36x4.0 12~M16x30 M10x125 21 37 60

+ RBHNERNER, MARBTEM Subject to technology changes without prior information
+ JEEM|EKTHTH Non-standard requirements can be made

O
>
—]
il

d PAGE125




